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QUESTION 1

If OCh trails fail to be created by trail, which are possible causes?

A. There are still alarms that are not cleared on the boards involved in the OCh.
B. The wavelength settings at the source and sink ends are inconsistent.

C. Some fibers are not connected.

D. There is no server trail.

Correct Answer: D

QUESTION 2
Which of the following statements about the Service Package is incorrect?

A. You can configure service package in two modes. One is to configure boards in batches, and the other is to configure
each board.

B. Service package enables one-click configuration of typical services by issuing multiple configuration commands in
batches, facilitating product deployment commissioning and reducing maintenance costs.

C. The Service Package can configure the working mode, service type, cross-connection, and port type in batches.
D. Currently, Service Package is available to the TOA, TOX and TSC boards.

Correct Answer: D

QUESTION 3

Which of the following alarms trigger optical line protection switching?
A. POWER_DIFF_OVER

B.R_LOF

C. MUT_LOS

D.R_LOS

Correct Answer: A

QUESTION 4

FXS and FXO are the names of the ports used by analog telephone lines. FXO ports and FXS ports are always used in
pairs.
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A. True
B. False

Correct Answer: B

QUESTION 5
Which of the following statements about AU pointers are correct?

A. The root cause of the AU pointer justification is that the clocks of the upstream and downstream stations are not
synchronized.

B. AU_PTR indicates the position of the JO byte.
C. If the receive end detects that the H1H2 bytes are "1", the local end generates the AU-AIS alarm.

D. The value of the AU-PTR pointer is placed in the last 10 bits of the H1 and H2 bytes. Therefore, the valid value of the
AU-PTR pointer is 0~1023.

Correct Answer: C
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